 EQ 12ax+11by+5\b(x-y)-12ay-11bx =
Изменяем порядок действий.

= EQ  12ax+5\b(x-y)-12ay-11bx+11by =

Производим группировку.

= EQ  \b(12ax+5\b(x-y)-12ay)+\b(-11bx+11by) =

Раскрываем скобки.

= EQ  \b(12ax+\b(5x-5y)-12ay)+\b(-11bx+11by) =

Раскрываем скобки.

= EQ  \b(12ax+5x-5y-12ay)+\b(-11bx+11by) =

Выносим знак минус из произведения.

= EQ  \b(12ax+5x-5y-12ay)-\b(11bx-11by) =

= EQ  \b(12a+5)\b(x-y)-\b(11b)\b(x-y) =

Выносим общий множитель.

= EQ  \b(\b(12a+5)-11b)\b(x-y) =

Раскрываем скобки.

= EQ  \b(12a+5-11b)\b(x-y) 
